
 

Any problem involving dropping or throwing objects

whether they go up or down is just what we call

a Free fall problem Free fall just means that

the only acceleration is gravity so on the earth

That means
a 10 M S2

this also means that free fall problems are just
constant acceleration problems However you happen

to know a few things
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SampleI A hall is dropped from a height of 4m
a How long will it take to fall

b what is its velocity just as it hits
the ground
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Vi O Mls because it was dropped

a 10m15 because itsgravity

y 4m because it went down

so for part a y fat Vit
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So the speed would be 8.9Mls



Sampley A pencil is dropped and hits the ground
after 0.7 seconds

a How far did it fall

b How fast is it going when it hits
the ground

Ito

things you know
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So it fell 2.45m
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Sample 3 Now with an initial velocity

A ball is thrown up with an initial velocity

of 15 M s It is caught the same height

from which it was thrown

a How long will it take
to reach its maximumheight

b what is its maximum height

c How long was it in the air

d what is its height after

only I setnd

e what is its velocity after

only I second

f what is its velocity just as it iscaught
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y 11.25 t 22.5

1411.2572 its t because its higher
than it started

c If it took 1.5 seconds to go up it will
take another 1.5 seconds to fall back

down so the total time in the air is
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It's positive so
still going up

f since its caught same height fromwhich

it was thrown we know the speeds are

the same but opposite velocities

so Vf Vi
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Notice we can calculate this as
well
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